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Situation:
Pods tested and left at User Level — OV will cause other pods to fail the Threshold Accuracy Test.

Solution/Action:
This procedure isin the Service Guide for the Logic Analyzers stated above.

When testing Pods 1 and 2, they are set to ECL and then User-OV. Then, when testing Pods 3 and 4,
Pods 1 and 2 are left at User-OV. Thisiswhere the problem occurs. Pod lisleft at OV andis

left floating, or acquiring noise. This affects Pod 3, and causes it to fail the test. So, after testing each
pod, put the level back to TTL. This does not have any affect on customer use of the logic analyzer.



